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A 6 |HEERKZE HEKR | 9.0 4.0 | mwax [ 7.0 6.0 | ok .0 6.0 | #dex [ 8.0 5.0 4.0 .0 .0 [127.0 1
A 13 |RIEKRZE #EK | 11.0 2.0 | BrEX [ 8.0 5.0 FXK | 10.0 3.0 | sk | 5.0 8.0 3.0 .0 .0 [107.5 2
A I - 2Tk | 10.0 3.0 | @K | 7.0 6.0 | #mK .0 7.0 | BX 9.0 4.0 3.0 .0 .0 [115.5 3
A 16 BERBKXZF AAK | 7.0 6.0 | sdex [ 5.0 8.0 | sk [ 12.0 Lo | mmke| 7.0 6.0 3.0 .0 .0 [115.5 4
A TEXTF BBk | 2.0 1.0 | #A&XKk | 8.0 5.0 | #3rk .0 5.0 | AAK | 7.0 6.0 3.0 .0 .0 [120.0 5
A 8 |HIBKRE TR | 11.0 2.0 | mKk | 6.0 7.0 | x| 12.0 .o | BEER | 6.0 7.0 2.0 .0 .0 [113.5 6
A 15 BAKRE BEEXR | 6.0 7.0 | BEK]| 9.0 4.0 | ik | 13.0 0.0 | F#EX | 6.0 7.0 2.0 8.0 .0 | 89.5 7
A 3 EBERBEKRE #rk | 10.0 3.0 | hk | 6.0 7.0 | mEk | 1.0 12.0 | #dik | 9.5 3.5 2.0 8.0 .5 |104.5 8
A 4 | HRIRHERLKRE ‘EEK [ 3.0 100 | 2xx | 8.0 5.0 | Tk | 5.0 8.0 | mkx | 9.0 4.0 2.0 8.0 .0 97.5 9
A 9 RfEEXF gk | 12.0 L0 | madik | 12.0 Lo| ®dk| 3.0 10.0 | #k | 4.0 9.0 220 7.0 .0 910 10
A 2 |[EHIEKRE sk [ 3.0 0] #srk | 5.0 8.0 | mex | 7.0 6.0 | s5Ex | 12.0 .ol 20| 7.0 .0 | 97.5 11
A 5 ERERKXZF Fk | 4.0 0] TR | 5.0 8.0 Tk | 6.0 7.0 | Wk | 11.0 201 1.0 9.0 .0 ] 95.5 12
A 11 BRRMLKRZ R | 7.0 0] Bk 1.0 12.0 | BErEX [ 1.0 12.0 | E@XK [ 3.5 95| 1.0] 8.0 .5 [107.5 13
A 14 BHEKRZE #AER | 2.0 0] BAK| 40 9.0 | wEx| 7.5 5.5 | 2T x | 1.0 1201 1.of| 7.0 .5 ]107.5 14
A 12 | BT RF ik | 6.0 O ) wmx [ 9.0 4.0l BAX | 0.0 13.0 | @k [ 4.0 9.0l 1.0] 5.0 .0 | 84.0 15
A 10 (U RFE SN 1.0 O EmRA | 40 9.0 | sEx | 5.5 7.5 | BB | 2.0 1.0 00| 50 .51 90.5 16
B 23 IEBKRE MR | 12,0 0 EER| 10 2.0 | —#®x | 10.0 3.0 | EX | 7.0 6.0 40] 11.0 .0 [110.5 1
B 31 MEEMIKRFE WALk | 10.0 L0 | sk | 10.0 3.0 | dex 7.0 6.0 | msEck [ 6.0 7.0 3.0 11.0 .0 [131.0 2
B 20 —@BKRE FHk | 10,0 0] Bk [ 7.0 6.0 | Bk | 3.0 10.0 | Bk | 9.0 4.0 3.0 100 .0 [124.0 3
B 34 BHfERERS SER | 8.0 0] 'k | oso0 5.0 | sk | 7.0 6.0 | ~#EK | 4.0 9.0 3.0 9.0 .0 |118.0 4
B 24 FZ)IIKE BEOK | 1.0 0l Tk | 7.5 5.5 | #%Kk | 7.0 6.0 | TTk | 10.0 3.01 3.0 9.0 .5 [113.5 5
B 27 JeMEERE gifhd [ 12.0 L0 | ok | 12,0 Lo MEK | 6.0 7.0 | =R | 1.0 2.0 3.0 7.0 .0 | 86.0 6
B 36 LEEKXE Ak | 11.0 0| wigEk [ 5.0 8.0 | gk | 9.0 4.0 | BR[| 7.0 6.0] 3.0] 6.0 .0 [100.0 7
B 30 HEKE #EER | 9.0 0| mmx [ 3.0 100 | kx| 4.0 9.0 | ##K | 10.0 3.01 2.0 9.0 .0 [109.0 8
B 22 HEEFERE wWITk | 10.0 0] mEk ] 2.0 1.0 | &K | 9.0 4.0 | dek .0 11.0 2.0 9.0 .0 [118.5 9
B 19 | FLERERE X | 3.0 O Ehek | 9.0 4.0 | #Z&ExR | 6.0 7.0 | Si#ok .0 501 2.0 8.0 .0 94.5 10
B 29 HEKRZE ik | 4.0 0 ik | 9.0 4.0 Tk | 6.0 7.0 | R .0 3.0 2.0 7.0 .0 ] 90.0 11
B 26 TEIEKRFE HHK .0 L0 smbE [ 9.0 O sk [ 7.0 6.0 | Mk .0 10.0f 220] 7.0 .0 | 84.5 12
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B 33 MEKRE BigR | 5.0 8.0 r&Xx | 9.0 4.0 | &k | 7.0 6.0 | %K | 5.0 8.0 2.0] 5012601 830 13
B 32 [LFKE MEA | 3.0 10.0 | ek | 4.0 9.0 | r&Xx | 8.0 5.0 | &k | 9.0 4.0 2.0 5.0 24.0(92.0 14
B 18 |BiB K% HzKk | 13.0 0.0 —®x | 6.0 7.0 | Bk | 6.0 7.0 | E®EK| 6.0 7.0 1.0| 9.0 31.0 |102.0 15
B 256 EREREFTKREF TIk| 7.0 6.0 | dex 1.0 12.0 | %=X | 4.0 9.0 | mux [ 3.0 100 1.0 9.0 15.0 |115.0 16
B 28 WRXFEE PN 1.0 120 Frx | 4.0 9.0 | Tk | 7.0 6.0 | mExR | 3.0 100 1.0| 80| 150 |117.5 17
B 21 HERIEKRE 2K | 3.0 10.0 | #Z%&K [ 5.5 7.5 | wRbE [ 6.0 7.0 | H&XK | 8.0 50 1.o| 6.0 225]|79.5 18
B 35 BALFRE EEK | 2.0 11.0 | sr#k | 4.0 9.0 | Wik | 5.0 8.0 | Tk | 5.0 8.0l 00| 80/ 16.0]104.5 19
B 17 KREFKRZF Ejgk [ 0.0 13.0 | %K | 4.0 9.0 | sz#x | 6.0 7.0 | AR | 4.0 9.0 00| 7.0/ 14.0 |107.0 20
o 41 RBKFE 28 | 5.0 0.0 ] fuMik | 3.0 2.0 | /dEREE [ 3.0 2.0 | EBEX [ 4.0 1.o] 40| 6.0[ 150 34.0 1
o 38 BEAEHKFEITEH Epk | 1.0 4.0 | bk | 4.0 Lo| @R | 3.0 2.0 | Bz | 4.0 .o] 3.0 5010 12,0 31.0 2
o 37 EREEKRFE RET | 4.0 Lo | /Mg | 1.0 4.0 | qumx | 3.0 2.0 | ok [ 1.0 4.0 20| 11,0 9.0 49.0 3
o 44 FuNKRE HigER | 3.0 2.0 | x| 2.0 3.0 | @Bk | 2.0 3.0 | /MG | 3.0 2.0 2.0 10,0 10.0] 47.0 4
o 39 /PMBRERIRE k% | 4.0 Lo KA | 4.0 Lo | #mk | 2.0 3.0 | umk | 2.0 3.0 2.0 9.0 12,0 42.0 5
o 43 HMEERER UK | 2.0 3.0 | ¥E | 4.0 Lo ®mT [ 2.0 3.0 | k& | 3.0 2.0 2.0] 6.0] 11.0] 33.0 6
o 40 |HRKRFERTF ARG | 1.0 4.0 | ®REET | 1.0 4.0 | B | 4.0 Lo | wigeR | 2.0 3.001 1.o| 7.0 80 380 7
o 42 FEHREKRE gk | 0.0 5.0 | miEk | 1.0 4.0 | bk | 1.0 4.0 | REET | 1.0 4.0 00| 100 3.0 46.0 8

2/ 2=




